bt T L&
V—2ZNo | ZEfEREZ|  FiE L=y J—4 A = T EN IFES )
2 P HEGEAR ) 1 3:37.86 P~
11 11:10 |m&BT1x| 3 FE(REFTA) 3 3:59.99 5-2
T 4 pokGEBEWIMEMESEBRC] 2 3:48.68 P~
5 SFUEGE M T) 4 4:20.80
6 B O GEET) 5 4:33.95
2 PREEGE T T) 4 4:16.25
12 11:20 |mEsr1x| 3 HEEBORHEE = 150 2 4:05.09 s~ | 5-2
Tz 4 B % F(HEM T) 1 3:49.94 P~
5 12 RO\IERE) 3 4:11.64
6 2 H (FEFTB) DNS TN
2 5 1 (7 ) 1 3:56.10 P~
13 11:30 |mges+1x| 3 HRTGI E T) 2 4:04.23 B~ | 5-2
T3] 4 1EAKEEFTC) 3 4:11.80
5 IIARGERH) Bot (L— ()
6 (L F G T 4 5:23.86
1 W TE 3 3:50.62 P~
2 JREFTB 5 3:56.19
14 13:00 |mkesrax| 3 EREA 2 3:32.59 B~ | 6-3
TR 4 W TA 1 3:16.87 P~
5 BB 4 3:55.90
6 Wi T.C 6 8:50.03
1 Wi 1D 5 4:13.94
2 Wi T.B 2 3:49.51 P~
15 13:10 |mkemrex| 3 JREFITA 4 4:11.27 6-3
T2 4 A 3 4:03.58 P~
5 J\IE P DNS HEHE
6 R B 1 3:37.25 P~
2 Wi B 1 3:23.34 DL~
16 | 13:20 [munsax+| 3 = 3 3:54.45 P~ | 5-3
TR 4 JEFTA 2 3:39.31 P~
5 WA T.C DNS HLhE
6 JREFTD 4 4:01.04
2 fEFTC 4 4:01.02
17 | 13:30 |@wenrax] 3 JEATB 2 3:36.56 g~ | 5-3
25| 4 W TA 1 3:11.81 P~
5 PN 3 3:45.68 D5~
6 JREFTE 5 4:03.90
2 JREFTD 3 5:05.67 PP~
18 13:40 |skrex| 3 ERK 2 4:00.56 i~ | 4-3
TR 4 JREFTA 1 3:47.22 P~
5 R 4 5:28.33
2 JREFITC 2 4:07.27 P~
19 | 13:50 [mkesr2x| 3 JEFTB 3 4:18.12 P~ | 4-3
T2 | 4 J\ %P 1 3:56.25 P~
5 JREFTE 4 4:49.94
2 REFTE 3 4:15.37 P~
20 | 14:00 |mkrax+| 3 KHEB 4 4:17.32 4-3
T 4 JREFTA 1 3:48.62 s~
5 JREFTC 2 4:04.48 P~
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Bl E RO
V-aNo | FERERER| R L IN—4, ASE T LEA L % I
2 JEFTD 2 4:10.19 e~
21 | 14:10 |mbesrax+| 3 FRHEA 3 4:12.29 3-2
T2 | 4 [T 1 3:51.44 P~
1 HEER O @) 5 4:09.46
2 B % FOEET) 4 3:59.52
39 | 13:40 |skmrix| 3 poHGEEWEESEBRC] 2 3:57.16 6-1
N 4 TR E) 1 3:45.26
5 i 1 (% ) 3 3:59.20
6 I RTGEE 1) 6 4:14.65
1 fEi (R FTB) 4 5:20.41
2 4 (& ) 3 4:47.49
40 | 13:00 |mtexrix| 3 A RETA) DNS FobE 6-1
| 4 KON ED) 1 4:22.63
5 MEENT5) 2 4:45.41
6 HARETC) 5 6:04.94
1 A 5 4:17.79
2 EIRIB 2 3:51.92
41 | 14:00 |mkemrex| 3 IR IRA 3 3:54.71 6-1
W | 4 W TA 1 3:37.97
5 Wi TB 4 4:17.00
6 WA TE 6 4:24.40
1 JEHTD DNS B
2 IR 2 4:15.58
42 14:10 |#tearex| 3 AN s 3 4:15.82 6-1
W | 4 FREFTA 1 4:07.90
5 JEiTC 5 5:20.62
6 JETB 4 5:05.26
1 == 6 4:05.62
2 JETB 3 3:41.79
45 | 14:40 |senrax+| 3 Wi B 2 3:31.60 6-1
W | 4 W TA 1 3:19.12
5 JEATA 4 3:52.04
6 PN 5 3:56.70
2 JRETC 3 4:14.57
46 | 14:50 |w@terrax+| 3 AT B 2 4:08.94 5-1
W | 4 REFTA 1 3:51.91
5 JEFTD 4 4:28.57
6 JETE 5 5:06.09
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